## CAMPAIGN FINANCIAL DISCLOSURE REPORT SUMMARY PAGE

(Please Print or Type)

C-2 Rev. 5/11

14.1UN 19 AN 9:33

Section I		SCANNE	D	Sicr Fund	v a rae	1
Name of Candidate or Political Comm James Walker Boise Fire				t (ij candidate)	FIDATO	strict (if any)
Mailing Address		City and Zip	Home Phone		Work Phone	
805 N 12th Ave.  Name of Political Treasurer		Boise 83702	343-2605	<u> </u>	384-4017	7
Philip Desilet						
Mailing Address		City and Zip	Home Phone		Work Phone	
2608 W Divide Creek St.		Meridian 83646	830-3268	3 	384-4017	
Section II This filing is an:	Report 30  Report 30  (Statewide Candidates Only)  Yes No	TYPE OF REPORT t ugh 5 /30 /14 Day Post-Primary Report Day Post-General Report NO CONTRIBUTIONS O	t	Annual Repo		
Be s	sure to carry forward the appropriate that I have received no control	oriate "Calendar Year to [	Date" figures in Colu	mn II, Section	IV.	
To reach your Calendar Year to	o Date figure: Add this report's of your previous report (excep	Column I	COLUMN I This Period		COLUMN Calendar Y to Date	'ear
Line 1: Cash on Hand January	1, This Calendar Year*	75 37.34	\$ XXXXXX	\$.	9,041.80	9991.80
Line 2: Enter Beginning Cash E	3alance**	,	\$ 6,587.34	\$.	XXXXX	<u>X</u>
Line 3: Total Contributions (Ent	ter amount from line 5, page 2)	a am du	\$	_ \$.	8,872.50	
Line 4: Subtotal (Add lines 1, 2	and 3)	9299.84	\$ 8,349.84	\$.	17,914.30	_18864.30 95_64.40
Line 5: Total Expenditures (Ent	er amount from line 11, page 2	)	\$ 0.00	\$.	9,564.30	9564,46
Line 6: Enter Ending Cash Bala	ance (Subtract line 5 from line 4	9299.84	\$ 8,349.84	\$	8,349.84	9299,84
Line 7: Outstanding Debt to Da	ate (Enter amount from line 18,	page 2)	\$ 0.00	_		
**This is the figure on line 6 of	ntered on line 1 of all reports file the last Campaign Financial Dis e for the current reporting perion	sclosure Report filed. If the				
	Section V					
Return This Report To: Ben Ysursa Secretary of State PO Box 83720 Boise ID 83720-0080 Phone: (208) 334-2852		et ame of Political Treasurer nplete and correct Camp		certify that the		
Phone: (208) 334-2852 Fax: (208) 334-2282		and	260		7	

Signature of Political Treasurer

## **DETAILED SUMMARY**

Name of Candidate or Committee: Boise Firefighters PAC

			Total This Perio
Contributions		(SECTION )	
Unitemized Contributions (\$50 and less)	# of Contributors	+	\$
Itemized Contributions (Total of all Schedule As	heets)	+	\$1,762.50
In-Kind Contributions (Total of all Contribution ar	mounts from Schedule C sheets)	+	\$
Loans (Total of all New Loan amounts from Sche	edule D sheets)	+	\$
Total Contributions (Transfer this figure to page 1, Sect	ion IV, Line 3)	=	\$1,762.50

Ex	xpenditures			
6	Unitemized Expenditures (Less than \$25) # c	f Expenditures	+	\$
7	Itemized Expenditures (Total of all Schedule B sheets)		+	\$
8	In-Kind Expenditures (Total of all Expenditure amounts from	n Schedule C sheets)	+	\$
9	Loan Repayments (Total of all Loan Repayment amounts fr	om Schedule D sheets)	+	\$
10	Credit Card and Debt Repayments (Total of all Repayment	amounts from Schedule E sheets)	+	\$
(11) To	otal Expenditures (Transfer this figure to page 1, Section IV, Line	5)	=	\$0.00

L	Loans, Credit Cards and Debt	
12	Outstanding Balance from previous reporting period	+ \$
13)	New Loans received during this reporting period (Total of all New Loan amounts plus Accrued Interest from Schedule D sheets)	+ \$
14)	New Credit Card and Debt incurred this reporting period  (Total of all New Incurred Debt amounts from Schedule E sheets)	+ \$
(15)	Subtotal	= \$
16)	Repayments of Loans made during this reporting period (Total of all Loan Repayment amounts from Schedule D sheets)	- \$
17)	Repayments of Credit Card and Debt this reporting period (Total of all Debt Repayment amounts from Schedule E sheets)	- \$
(18)	Total Outstanding Balance at close of this period (Transfer this figure to page 1, Section IV, Line 7)	= \$

	Pledged Contributions	
(19)	Unitemized Pledged Contributions (\$50 and less) # of Pledges	+ \$
20	Itemized Pledged Contributions this Period (Total of all Schedule F sheets)	+ \$
21)	Total Pledged Contributions this period	= \$

		idate or Comm							
LAST	FIRST	ADDRESS	CITY	1/25/2014	2/25/2014	3/25/2014	4/25/2014	5/25/2014	
Able	Mike	4475 Shamrock	Boise, 83713	\$5.00	\$5.00		\$5.00	\$5.00	\$25.0
Allen	Kevin	2109 W. Grouse St.	Nampa, 83651	\$4.00	\$4.00	<u> </u>	\$4.00	\$4.00	\$20.0
Andrews	Rodney	7051 Desert Avenue	Boise, 83709	\$9.00	\$9.00	\$9.00	\$9.00	\$9.00	\$45.0
Andrisek	Anthony	691 E. Sienna Creek	Kuna,83634	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Ashton	Brian	1416 N. Raymond St.	Boise, 83704	\$2.00	\$2.00	\$2.00	\$2.00	\$2.00	\$10.0
Barbero	Mike	1505 N Front	Boise, 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Barber	Brian	1612 Roanaoke Dr	Boise, 83712	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Barnack	Randy	11925 W. Emerson D	Boise, 83709	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Barnard	Jason	4888 S. Umatilla	Boise, 83709	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Bayless	Matthew	3825 N Longabaugh Ave	Meridian, ID 83646	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Berkheiser	Ryan	901 N. Filmore	Meridian, ID 83642	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Bisagno	Mike	1709 Bent Rock	Boise, ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Boehm	Roy	5503 W Waterwheel	Boise, ID 83713	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Bradshaw	Joel	2596 tullycove	Meridian, ld 83646	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Briggs	Greg	1302 N. 13th Street	Boise, ID, 83702	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00	\$75.0
Broadhead	Thad	11327 W. Gila	Kuna, Id 83634	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Broden	Keith	2111 N. Fry St.	Boise, ID 83704	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100.0
Brown	Richard	5916 W Floating Feather	Eagle, ID 83616	\$25.00	\$25.00	\$25.00	\$25.00	\$25.00	
Burgin	Tj	9534 Rustica Dr.	Boise, ID 83709	\$7.00	\$7.00	\$7.00	\$7.00	\$7.00	\$35.0
Butler	Nicolas	3801 S Cole Rd	Boise ID 83702	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Cain	Chad	805 State Street	Boise ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Cairy	Kevin	4018 Irving St	Boise, ID 83706	\$5.00	\$5.00		\$5.00	\$5.00	\$25.0
Campbell	Chris	5054 E. Fescue Stre		\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	
Campbell	Tom	3440 Glenn Street	Boise, ID 83709	\$5.00	\$5.00		\$5.00	\$5.00	\$50.00 \$25.00
Caple	Donnie	P.O. Box 411	Emmett. ld 83617	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	
Carrico	Bart	5268 N wanngton	Boise, 83713	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$50.0
Casetta	Tony	1563 Johns Pl	Emmett, ID 83713	\$12.00	\$12.00	\$12.00	\$12.00	\$12.00	\$25.0
Chally	Geoff	6124 N. Sparkford W		\$5.00	\$5.00				\$60.0
Christensen	Randy	11000 W. Glen Ellyn		\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	+
Christensen	Robby	11000 W. Glen Ellyn		\$15.00	\$15.00		\$15.00	\$15.00	\$50.0
Cleavland	Joe	678 Stardust		\$5.00	\$5.00			\$5.00	\$75.0
Cole	Terry	1808 W Grand Teton	Meridian, iD 83646	\$2.00	\$2.00				\$25.0
Compton	Tom		Meridian ID 83646 Meridian, ID 83642	\$5.00	\$5.00	\$5.00	\$5.00	\$2.00 \$5.00	\$10.0
Cook	Wes			\$5.00	\$5.00	\$5.00			\$25.0
Cooper	Dave	779 E Ridge dr	Eagle, ID 83616	\$5.00			\$5.00	\$5.00	\$25.0
		4457 N. Waterford W			\$5.00		\$5.00	\$5.00	\$25.0
Cooper	Doug	3700 Sanada Way	Boise, ID 83702	\$15.00	\$15.00		\$15.00	\$15.00	\$75.0
Cov	Aaron	1900 N.13th St	Boise,ID 83702	\$15.00 \$5.00	\$15.00		\$15.00	\$15.00	\$75.0
Cox	Justin	12321 W. Winton St		\$5.00	\$5.00		\$5.00	\$5.00	\$25.0
Desilet	Philip	2608 W. Divide Creel		\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Dethman	Jonas	3020 Gerrard Street	Boise, ID 83703	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Devore	Peter	2697 Greystone	Eagle, ID 83616	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Dial	Steve	2547 S. Monitor Way		\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Doan	Dennis	2132 W. Tumblecreel	Meridain, ID 83642	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100.0
Drake	Dave	16 Stardust Lane	Garden Valley,ID 836	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Edmonds	Chris	5910 W Denton	Boise ID 83703	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Ellis	JD	3927 Pennfield Ave	Boise,ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Emerson	Chuck	1506 Warm Lake rd	Cacade, ID 83611	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.0
Ferneau	Richard	9297 Purple Sage	Middleton, ID 83644	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0
Forester	Neil	7888 Redmon Road	Caldwell, ID 83607	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.0

Frederick	Brandon	6241 S. Lone Tree W	Boise, ID 83709	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100.00
Frederick	Mike	186 Emmett dr.	Emmett, ld 83617	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Funk	Teagan	3456 Whata Circ.	Meridian ID 83642	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Gainor	Tom	2408 Daisey	Boise, ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Galindo	Ron	9172 W. Ottawa	Boise, ID 83709	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Gifford	Donnie	2626 S Basin	Meridian ID 83646	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Gilbertson	Kent	9230 W. Aquanus St		\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Gillispie	Chris		Star, ID 83669	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Gould	Kevin	3415 Lamont Road	Meridian,Id 3642	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
Gonzalez	Alberto	1897 S longmont	Boise, 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
	James	447 E Bogus Basin R		\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
	Chad	P.O. Box 414	Garden Valley,ID 836	\$10.00	\$10.00	\$10.00		\$10.00	\$50.00
Gross	Jim	9650 Knottingham Dr		\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
	Scott	1407 S. Leadville	Boise, ID 83706	\$8.00	\$8.00	\$8.00		\$8.00	\$40.00
Hammett	Peter	1616 Hill Rd	Boise ID 83702	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
Hanson	Mike		Kuna ID 83634	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
	Chris	528 S Midpine Ave		\$5.00	\$5.00	\$5.00		\$5.00	
Hilliard		447 E Apple st	Boise Id 83703	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
Hotchkiss	Lance		Meridian, ID 83642	\$6.00		\$6.00	\$6.00	\$6.00	\$25.00
		3021 S buck Ln	Boise, 83713		\$6.00				\$30.00
Howell	Randy	2888 Bo Daniel LN	Nampa ID 83687	\$5.00 \$10.00	\$5.00 \$10.00	\$5.00 \$10.00	\$5.00 \$10.00	\$5.00 \$10.00	\$25.00
	Aaron	3593 Sawgrass Wy	Boise, ID 83704	\$5.00		\$5.00		\$5.00	\$50.00
Huskinson	Seth	149 Burley rd	Burley ID 83318	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
Ingram	Nathan	14569 Sparrowmind	Sandhollow ID 8365		\$5.00			\$5.00	\$25.00
Johnson	Jeremy	9354 Jullion	Boise, 83713	\$5.00	\$5.00	\$5.00			\$25.00
Jones	Kent	11856 W. Driftwood 0		\$10.00	\$10.00	\$10.00		\$10.00	\$50.00
Kain	Sean	2901 S. Law Ave	Boise, ID 83706	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
Kircher	Jeremy	314 Redondo St.	Caldwell,ID 83605	\$10.00	\$10.00	\$10.00	<del></del>	\$10.00	\$50.00
Klinger	Mark	1401 N. 20th St.	Boise,ID 83702	\$20.00	\$20.00	\$20.00		\$20.00	\$100.00
Knoelk	Martin	2560 S Blackcat rd.	Meridian, ID 83642	\$5.00	\$5.00	\$5.00	\$5.00	***	\$20.00
Kruse	Mike	22978 Buskirk Drive	Middleton, ID 83644		\$8.00	\$8.00		\$8.00	\$40.00
Kuehn	Richard	2200 Ditch Crk	Meridian 83646	\$5.00	\$5.00	\$5.00		\$5.00	\$25.00
	Duane	3809 N Horseshu ber		\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Labour	Jeff	2701 Wymer Street	Boise, ID 83705	\$10.00		\$10.00		*40.00	\$40.00
Lacy	Glen	379 Holland Dr.	Nampa,ID 83651	\$10.00					\$50.00
Lamb	Greg	5455 S. Yarrow Place		\$5.00				\$5.00	\$25.00
Larrondo	Raymond	12345 Lake Lowell	Nampa,ID 83651	\$5.00					\$25.00
Latham	Jeff	1313 Shenandoah	Boise ID 83613	\$5.00			<del> </del>		\$25.00
Layne	Darren	14566 ranch rd	Marsining ID 83639	\$5.00					\$25.00
Leiby	Jim	7925 Arlington Drive	Nampa,ID 83651	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100.00
Lemay	Corey	4832 Albion	Boise ID 83613	\$10.00		<del></del>			\$50.00
Lester	Tyrel	5706 Freemont	Boise ID 83613	\$5.00					\$25.00
Leuck	Aaron	11940 W. Kittredge D	Kuna,ID 83634	\$5.00	\$5.00			<del> </del>	\$25.00
Lewis	Jason	1516 N. 27th St	Boise,ID 82702	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Lewton	Mark	380 S. Old Quarry W	Boise,ID 83709	\$30.00	\$30.00	\$30.00	\$30.00	\$30.00	\$150.00
Lindsey	Jimmy	305 N. 17th St.	Boise,ID 83702	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Linn	Robert	11520 W.Peppermint	Horseshue Bend ,iD	\$10.00	\$10.00	\$10.00		\$10.00	\$50.00
Lloyd	Tony	110 S Riverside	Boise, 83713	\$10.00					******
Lockman	Mike	4255 Wisteria Way	Boise,ID 83713	\$10.00					\$50.0
Long	Scott	2322 N. 27th St.	Boise,ID 83702	\$5.00				<del></del>	\$25.0
Lovell	Thomas	249 S. Winthrop Place	Boise,ID 83702	\$35.00		<del></del>			\$175.0
Lowe	Shane	713 W. Braemere Rd	Boise,ID 83702	\$10.00					
LOWE								\$E 00	
Lunghofer	Joe	3801 S Cole Rd	Boise ID 83707	\$5.00 \$10.00					\$25.00

Margins   Danie   1205 Floating Feather Regist to Basil   \$10.00	- Madarieta	Levi	1786 Boulder Bar	Meridian ID 83646	\$5.00	<b>\$5.00</b>	****	27.00		
Majors   Carris   Disprict St   Debis 70 87792   \$5.00   \$5.	Madigan				\$5.00 \$10.00	\$5.00 \$10.00	\$5.00	\$5.00	\$5.00	\$25.00
Majors   Panely   005 From St   Solidon, D. 83702   \$5.00										
Marino	<u> </u>	<del></del>								
Mammino   Dan   2717 W   Hill Road   Daniel Strot	<del></del>	<del></del>		<del></del>						
Martin   Brian   7:55   Bloc   1.		<del></del>								
Martin   Cralig   5698 Hill Ad		<del> </del>		<del></del>						<del>                                     </del>
Martin   Sieve   364 Devon Wy   2496, in 38366   \$5.00   \$3.00   \$3.00   \$3.00   \$22.00   \$3										
Matthews   Brent   4669 Annly Rid   Meridian   10 Seat2   \$3.00   \$3										
Marticx   Russ   004 N Happy Valley of Nampa in 85887   \$10.00										\$25.00
McCoullogh   July   9898 W. Dylan Ct   Struid 88869   \$10.00   \$										\$25.00
Month   Paul   S765 Millistmann Wy   Garden City, ID 8372   \$10.00   \$10.00   \$10.00   \$10.00   \$40.				Nampa ID 83687						\$50.00
McFarland   Andy										\$50.00
McClean   Craig   6598 Kura Mora rd   kma, 10 83844   \$10.00   \$				Garden City, ID 8371						\$50.00
Meminore   Milka   2467 E. Clarame Strey Meridian, D. 83642   \$20.00   \$2			3262 Scenic Dr.	Boise, ID 83702		\$4.00	\$4.00	\$4.00	\$4.00	\$20.00
Millier   Joe   1749   Hendricks   Meridian ID 83642   \$5.00			6598 Kuna Mora rd.	Kuna, ID 83634			\$10.00	\$10.00	\$10.00	\$50.00
Miller										\$100.00
Millier   Shawn   6026 N. Waterilly W. Boise, ID 87714   \$10.00   \$10.00   \$10.00   \$10.00   \$10.00   \$50.00										\$25.00
Millington   Vern   10802 Hiswatha   Boise, ID 83713   \$5.00   \$5.00   \$5.00   \$5.00   \$22.00   \$20.00   \$10.										
Mitchell   Roy										<del> </del>
Moore   Thomas   15485 Soles Rest Cr   Middleton, ID 83644   \$20.00   \$20.00   \$20.00   \$20.00   \$20.00   \$20.00   \$30										
Morlock   August   4644 Sheltway   Kuma, In 83664   \$5.00										
Moss   Randy   3404 Brampton Way Star, id 83669   \$5.00   \$5										<del></del>
Muir   Dave   9512 Martingale Driv   Soise, D 83709   \$10.00   \$10.00   \$10.00   \$10.00   \$50.00   \$30.00   \$40.00   \$50.00   \$40.00   \$				<u> </u>						\$25.00
Murphy   Sean   2365 N Tussel St   Meridian ID 83646   \$7.50   \$7.50   \$7.50   \$7.50   \$7.50   \$37.5										\$25.00
Nash				Boise,ID 83709						\$50.00
Nebeker   Carl   2169 Parkside Drive   Bolse,ID 83712   \$10.00	<u> </u>			Meridian ID 83646						\$37.50
Nellson   Peter   7353 Rygate   Bolise,  D 83703   \$5.00   \$5.00   \$5.00   \$5.00   \$5.00   \$25.00   \$25.00   \$8.00										\$10.00
Nelson Shane 2401 S. Apple St. E-3 Boise, ID 83706 \$5.00 \$5.00 \$5.00 \$5.00 \$5.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$25.00 \$3				Boise,ID 83712						\$50.00
Nestler   Kirk   404 S Silverpine   Boise, ID 83713   \$3.00			7353 Rygate	Boise,iD 83703						\$25.00
Olaso   Thane   10702 W. La Grange   Bolse,ID 83709   \$7.00   \$7.00   \$7.00   \$7.00   \$35.00   \$35.00   \$10.0				Boise,ID 83706				\$5.00		\$25.00
Oldenburg   Perry   1661 West Rush Roa   Eagle, ID 83616   \$20.00   \$20.00   \$20.00   \$20.00   \$20.00   \$100.00			404 S Silverpine	Boise, ID 83713						\$15.00
Oldham   Dane   2407 Sunrise Rim   Boise, ID 83705   \$10.00   \$10.00   \$10.00   \$10.00   \$10.00   \$30.00			10702 W. La Grange	Boise,ID 83709						\$35.00
Ostermiller         Joe         2801 N 14th         Bolse, ID 83713         \$6.00         \$6.00         \$6.00         \$6.00         \$6.00         \$30.00           Owen         Matthew         2779 Falling Brook W Boise, ID 83716         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Pawek         Tom         27 Wilderness Way         Boise, ID 83703         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Payne         Rick         1077 E. Thunderbird         Boise, ID 83703         \$5.00		Perry		Eagle, ID 83616			\$20.00	\$20.00		\$100.00
Owen         Matthew         2779 Falling Brook W Boise,ID 83716         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Pawek         Tom         27 Wilderness Way         Boise,ID 83703         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00			2407 Sunrise Rim	Boise, ID 83705		\$10.00	\$10.00	\$10.00		\$50.00
Pawek         Tom         27 Wilderness Way         Boise,ID 83703         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Payne         Rick         1077 E. Thunderbird         Boise,ID 83703         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Peterson         Jake         259 N Pennfiled         Boise ID 83613         \$1.00         \$1.00         \$1.00         \$1.00         \$1.00         \$5.00 <td>Ostermiller</td> <td>Joe</td> <td>2801 N 14th</td> <td>Boise, ID 83713</td> <td>\$6.00</td> <td>\$6.00</td> <td>\$6.00</td> <td>\$6.00</td> <td>\$6.00</td> <td>\$30.00</td>	Ostermiller	Joe	2801 N 14th	Boise, ID 83713	\$6.00	\$6.00	\$6.00	\$6.00	\$6.00	\$30.00
Payne         Rick         1077 E. Thunderbird         Boise,ID 83703         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Peterson         Jake         259 N Pennfiled         Boise ID 83613         \$1.00         \$1.00         \$1.00         \$1.00         \$5.00         \$5.00           Peterson         Darron         8674 Fruitvine         Fruitland ID 83619         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Peters         Jim         3112 Breneman         Boise,ID 83703         \$5.00	Owen	Matthew	2779 Falling Brook W	Boise,ID 83716	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Peterson         Jake         259 N Pennfiled         Boise ID 83613         \$1.00         \$1.00         \$1.00         \$1.00         \$5.00           Peterson         Darron         8674 Fruitvine         Fruitland ID 83619         \$5.00         \$5	Pawek	Tom	27 Wilderness Way	Boise,ID 83703	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Peterson         Darron         8674 Fruitvine         Fruitland ID 83619         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Peters         Jim         3112 Breneman         Boise, ID 83703         \$5.00         \$50.00 <td>Payne</td> <td>Rick</td> <td>1077 E. Thunderbird</td> <td>Boise,ID 83703</td> <td>\$5.00</td> <td>\$5.00</td> <td>\$5.00</td> <td>\$5.00</td> <td>\$5.00</td> <td>\$25.00</td>	Payne	Rick	1077 E. Thunderbird	Boise,ID 83703	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Peters         Jim         3112 Breneman         Boise,ID 83703         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Pettinger         Rob         259 W Shonshone         Boise, ID 83713         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Peugh         John         856 Moriah         Boise, ID 83713         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00         \$50.00         \$50.00         \$50.00         \$50.00         \$50.00         \$15.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00<	Peterson	Jake	259 N Pennfiled	Boise ID 83613	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$5.00
Pettinger         Rob         259 W Shonshone         Boise, ID 83713         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Peugh         John         856 Moriah         Boise, ID 83713         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Pruett         Scott         843 Eagle Hills Wy         Eagle, ID 83616         \$15.00         \$15.00         \$15.00         \$15.00         \$50.00	Peterson	Darron	8674 Fruitvine	Fruitland ID 83619	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Peugh         John         856 Moriah         Boise, ID 83713         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Pruett         Scott         843 Eagle Hills Wy         Eagle, ID 83616         \$15.00         \$15.00         \$15.00         \$15.00         \$15.00         \$75.00           Punt         Nathan         3120 Bonview Dr.         Boise,ID 83709         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Quarles         Shane         510 N 10th         Hidden Springs, ID 8         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Quinn         Eric         2993 E. Red Tail Ave Boise,ID 83709         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Rabbitt         Jim         4996 S. Walcott         Boise,ID 83706         \$15.00         \$15.00         \$15.00         \$15.00         \$15.00         \$50.00           Rairey         Marcus         4226 S. Trailridge Av Boise, ID 83712         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Ramey         Greg         5393 W. Hidden Sprin Eagle, ID 83616         \$5.00	Peters	Jim	3112 Breneman	Boise,ID 83703	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Pruett         Scott         843 Eagle Hills Wy         Eagle, ID 83616         \$15.00         \$15.00         \$15.00         \$15.00         \$75.00           Punt         Nathan         3120 Bonview Dr.         Boise,ID 83709         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Quarles         Shane         510 N 10th         Hidden Springs, ID 8         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Quinn         Eric         2993 E. Red Tail Ave Boise,ID 83709         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Rabbitt         Jim         4996 S. Walcott         Boise,ID 83706         \$15.00         \$15.00         \$15.00         \$15.00         \$75.00           Rainey         Marcus         4226 S. Trailridge Av Boise, ID 83712         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Raisich         Kyle         1373 E. Boston Dr         Boise,ID 83706         \$3.00         \$3.00         \$3.00         \$3.00         \$5.00         \$5.00           Ramey         Greg         5393 W. Hidden Sprii Eagle, ID 83616         \$5.00         \$5.00         \$5.00         \$50.00 <td>Pettinger</td> <td>Rob</td> <td>259 W Shonshone</td> <td>Boise, ID 83713</td> <td>\$10.00</td> <td>\$10.00</td> <td>\$10.00</td> <td>\$10.00</td> <td>\$10.00</td> <td>\$50.00</td>	Pettinger	Rob	259 W Shonshone	Boise, ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Punt         Nathan         3120 Bonview Dr.         Boise,ID 83709         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Quarles         Shane         \$10 N 10th         Hidden Springs, ID 8         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Quinn         Eric         2993 E. Red Tail Ave Boise,ID 83709         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Rabbitt         Jim         4996 S. Walcott         Boise,ID 83706         \$15.00         \$15.00         \$15.00         \$15.00         \$15.00         \$75.00           Rainey         Marcus         4226 S. Trailridge Av Boise, ID 83712         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Raigisch         Kyle         1373 E. Boston Dr         Boise,ID 83706         \$3.00         \$3.00         \$3.00         \$3.00         \$3.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00	Peugh	John	856 Moriah	Boise, ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Quaries         Shane         510 N 10th         Hidden Springs, ID 8         \$5.00	Pruett	Scott	843 Eagle Hills Wy	Eagle, ID 83616	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00	\$75.00
Quinn         Eric         2993 E. Red Tail Ave Boise,ID 83709         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Rabbitt         Jim         4996 S. Walcott         Boise,ID 83706         \$15.00         \$15.00         \$15.00         \$15.00         \$75.00           Rainey         Marcus         4226 S. Trailridge Av Boise, ID 83712         \$10.00	Punt	Nathan	3120 Bonview Dr.	Boise,ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Rabbitt         Jim         4996 S. Walcott         Boise,ID 83706         \$15.00         \$15.00         \$15.00         \$15.00         \$75.00           Rainey         Marcus         4226 S. Trailridge Av Boise, ID 83712         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Rajsich         Kyle         1373 E. Boston Dr         Boise,ID 83706         \$3.00         \$3.00         \$3.00         \$3.00         \$3.00         \$15.00           Ramey         Greg         5393 W. Hidden Sprii Eagle, ID 83616         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Ramey         James         288 S. Hobbs         Eagle, ID 83616         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00	Quarles	Shane	510 <b>N</b> 10th	Hidden Springs, ID 8	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Rainey         Marcus         4226 S. Trailridge Av Boise, ID 83712         \$10.00         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00           Rajsich         Kyle         1373 E. Boston Dr         Boise,ID 83706         \$3.00         \$3.00         \$3.00         \$3.00         \$3.00         \$15.00           Ramey         Greg         5393 W. Hidden Sprir Eagle, ID 83616         \$5.00<	Quinn	Eric	2993 E. Red Tail Ave	Boise,ID 83709	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Rajsich         Kyle         1373 E. Boston Dr         Boise,ID 83706         \$3.00         \$3.00         \$3.00         \$3.00         \$3.00         \$15.00           Ramey         Greg         5393 W. Hidden Sprii Eagle, ID 83616         \$5.00         \$5.00         \$5.00         \$5.00         \$5.00         \$25.00           Ramey         James         288 S. Hobbs         Eagle, ID 83616         \$10.00         \$10.00         \$10.00         \$10.00         \$50.00	Rabbitt	Jim	4996 S. Walcott	Boise,ID 83706	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00	\$75.00
Ramey         Greg         5393 W. Hidden Sprir Eagle, ID 83616         \$5.00	Rainey	Marcus	4226 S. Trailridge Av	Boise, ID 83712	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Ramey James 288 S. Hobbs Eagle, ID 83616 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$50.00	Rajsich	Kyle	1373 E. Boston Dr	Boise,ID 83706	\$3.00	\$3.00	\$3.00	\$3.00	\$3.00	\$15.00
	Ramey	Greg	5393 W. Hidden Spri	Eagle, ID 83616	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
25.00	Ramey	James	288 S. Hobbs	Eagle, ID 83616	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
	Rasulo	Steve	11480 W. Jenilyn Cou	Boise,ID 83713	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00

Raymond	Tim	5706 Freemont	Boise ID 83706	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	401
Ream	Bill			\$10.00					, , , , ,
Reitan	Thomas	PO Box 205	Caldwell,ID 83605		\$10.00	\$10.00	\$10.00	\$10.00	
Res	Shawn	2322 N. 27th St.	Boise, ID 83704	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	
		2838 W. Forecast St.		\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100
	Noel	12726 Gisborne	Boise, ID 83713	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100
	Paul	1142 N. Snead Place	Eagle, ID 83616	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25
Rosen	Tim	9274 W. Rifleman Ct	Boise,ID 83704	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25
Rosenbaum	Ashley	3047 N. Tattenham	Boise,ID 83703	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25
Ruffing	Charly	11363 Moss Lane	Nampa,ID 83651	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25
Rusher	Donny	137 E. Washakie St.	Meridian,ID 83642	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$100
Sapien	Kevin	5863 Vista Rd	Boise 83713	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
Satterlee	Steve	1532 W. Ryegrass Ct	Kuna,ID 83634	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$5
Schlabs	Travis	5113 N. Rothmans A	Boise,ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$5
Schmidt	Rusty	12788 Smith Ave	Meridian,ID 83642	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
Severance	Keith	3802 Gemini Cir	Boise, ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
Simpson	Brian	11069 W. Roselake S	Star,ld 83669	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
Skovlin	Bjorn	4658 Albion	Boise 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$5
Skinner	Brian	12399 W. Auckland	Boise,ID 83709	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$5
Smith	Glen	1255 E Tusltewood	Boise, ID 83713	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
Sorenson	Bryan	2487 E. Bridgecreek I		\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
	Robert	5049 N. High Prairie I		\$25.00	\$25.00	\$25.00	\$25.00	\$25.00	\$12
<del></del>	Randy		Boise,ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
	Bruce		Middleton, ID 83644	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
	Rick		Boise,ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
	Clayton	S Cole Rd	Boise ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	
	Travis	10042 Hollandale		\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$2
			Boise, ID 83713						<u> </u>
	Earl	403 N. 23rd St	Boise,ID 83702	\$13.00	\$13.00	\$13.00	\$13.00	\$13.00	
	Kenneth	424 E. Chateau	Meridian,ID 83642 Boise, ID 83713	\$5.00 \$5.00	\$5.00	\$5.00 \$5.00	\$5.00	\$5.00	\$2 \$2
<u> </u>	Russ Terry	5212 Elmer St.		\$5.00	\$5.00 \$5.00	\$5.00 \$5.00	\$5.00 \$5.00	\$5.00 \$5.00	
		3894 W. Niemann Dri		\$5.00	\$5.00			\$5.00	· · · · ·
	Dray	3425 warm Psrings		\$5.00	\$5.00			\$5.00	<u> </u>
	Chad	1621 Brandi Lane	Meridian, ld 83617				\$5.00		<u> </u>
	Bill	333 N Sailfish	Boise, ID 83713	\$10.00	\$10.00		\$10.00	\$10.00	ļ
	Bert	435 12th	Fruitland ID	\$5.00	\$5.00		\$5.00	\$5.00	
	Robert	501 E. Brown Bear	Nampa,ID 83687	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	
/eseth	BRian	5706 Freemont	Boise id 83713	\$5.00	\$5.00		\$5.00	\$5.00	\$2
Jpton	Andy	519 Union Street	Boise,ID 83702	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$:
Valcroft	Wally	6615 Fairfield Ave	Boise,ID 83709	\$15.00	\$15.00				<u> </u>
Valker	James	805 N 12th	Boise, ID 83702	\$26.00	\$26.00	\$26.00	\$26.00	\$26.00	
	Mike	6615 Fairfiled	Boise, ID 83709	\$10.00	\$10.00		\$10.00	\$10.00	
Valters	Jeff	2555 Hungry Creek	Meridian,ID 83646	\$5.00	\$5.00				· · · ·
	lan	808 Paramount	Meridian ID 83646	\$5.00	\$5.00		\$5.00		
	Jeff	2119 N. 16th St.	Boise,ID 83702	\$5.00	\$5.00		\$5.00		<u> </u>
Vesterdoll	Mark	10941 Shetland Rd	Boise,ID 83709	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$
Viese	Gary	1551 W. Pintail Drive	Meridian,ID 83642	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$:
Villiams	Ryan	333 N Sailfish	Boise, ID 83713	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$:
Vilson	Cassey	2229 Orion Ave.	Nampa, ID 83651	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$
Vilson	Hyrum	333 N Sailfish	Boise, ID 83713	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	
Vilson	Kevin	109 Mountain View D	Mountain Home 836	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$
Vollford	Travis	2600 Root Creek	Meridian, ld 83646	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$
Vomack	Greg	12350 W. Nancee Dr	Boise,ID 83709	\$20.00	\$20.00	\$20.00	\$20.00	\$20.00	\$1
Vong	Jerrod	5251 N. Fenwick Ave		\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$
	Tim	2400 Glacier rd.	Meridian, ID 83646	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	

Wright	Justin	1614 Streamside	Nampa, ID 83651	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Yates	Ryan	432 N Jefferson	Boise ID 83702	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Yearsley	Jason	199 Sciver Rd.	Garden Valley,ID 836	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Zebell	Jake	12936 Silversage Dr.	Nampa,ID 83687	\$5.00	\$5.00	\$5.00	\$5.00	\$5.00	\$25.00
Zimmerly	Josh	4423 Gage Street	Boise,ID 83706	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
Zolin	Mike	2500 Eagleson	Boise, ID 83713	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$50.00
									\$0.00
TOTALS:				\$1,777.50	\$1,777.50	\$1,777.50	\$1,777.50	\$1,762.50	\$8,872.50